Ellie has 4 apples. Jessica
brings 7 more. How many
do they have in all?

®

Hannah had 18 candy
bars. Krispen ate 7 of
them. How many does
Hannah have left?

Milk Chocolate i

Lindsay had 11 purple
balloons and 9 green
balloons, how many does
she have all together?

Kaki had 17 pumpkins she
carved 4 of them. How
many does she have left to

carve?




Addition equation

8+5=
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Subtraction Equation

20-12=

<99
/

\\ ==/

—

Subtraction equation

18-6=




ELLIG HAS 4 APPLES,

JRSSICA BRINGS 7 MORe.
o TATY DO THe A AL




Milk Chocolate A

HATI\AH HAD 18 CANDY BARS,

KRISPEY ATE 7 OF THEM,
JON ATYDOGS AT A L4




bIDSAY HAD 11 PURPLG BALLOONS

ATD 9 GReel BALLOORS,
N AT D% S e
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SHE CARVED 4 OF THEHM.
N A DO HE LT T e













